FREE-ENERGY:
NIKOLA TESLA SECRETS FOR EVERYBODY

by Vladimir Utkin wv(@bk.ru

FIRST SECRET
All of Tesla’s secrets are based on
ELECTROMAGNETIC FEEDBACK

EXPLANATION: An ordinary energy system comprises a generator and motor (common view), and can be
completed with an electric current feedback as shown here in electrical circuit (a)

NO FREE-ENERGY FREE ENERGY IS POSSIBLE
Motor Generator Motor Generator
(a) (b)
Electrical feedback ElectroMagnetic field feedhack

In case (a), the system once started, will slow down and stop because of friction, resistance and so on. Nikola Tesla
arranged a feedback loop for the electromagnetic field: case (b), and he said:

ELECTROMAGNETIC FIELD FEEDBACK DESTROYS THE INTERACTION
SYMMETRY

This means that an action no longer has an equal and opposite reaction
In case (b), once started, the system will accelerate in spite of friction, resistance and so on (provided that the phase of
the electromagnetic feedback is positive and is sufficiently large). In order for an electromagnetic field to exist in a
motor, there must be some energy input, and Tesla said:
ENERGY GENERATION BY IT’S OWN APPLICATION
QUESTION: How can you produce positive electromagnetic field feedback?

AN ANSWER: The simplest and well-known example is Michael Faraday’s unipolar motor, as modified by Nikola
Tesla:

An ordinary unipolar motor consists of a magnetised disk, and a voltage applied between the axis and a point on the
circumference of the disc as shown in (a) above. But an ordinary unipolar motor can also consists of an external magnet
and a metal disc with a voltage applied between the axis and a peripheral point on the disc as in (b) above. Tesla
decided to modify this version of the unipolar motor. He cut the metal disc into helical sections as shown here:
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In this case, the consumption of current produces an additional magnetic field along the axis of the disc. When the
current-carrying wires are tilted in one direction, their magnetic field augments the main external magnetic field. When
the wires are tilted in the other direction, their magnetic field reduces the main external magnetic field. So, the current
flow can increase or reduce the external magnetic field of the unipolar motor.

Amplification is not possible without applying power

Ifit is possible to arrange a magnetic field feedback loop for mechanical devices, then it is probably possible to arrange
it for solid-state devices like coils and capacitors. The others parts of this article are devoted to devices which use coils
and capacttors. All of the examples in this article are only intended to help your understanding of the principles nvolved.
Understanding would be made easier if we pay attention to the ferromagnetic shielding of the second coil in the
transformer nvented by Nikola Tesla:

In this case, the ferromagnetic shield separates the first and second coils in the transformer firom each other, and that
shield can be used as magnetic field feedback loop. This fact will be useful for understanding the final part of this article.
It is also helpful to consider the properties of the electrostatic field.

ELECTROSTATICS
(scalar field and the longitudinal electromagnetic waves)

Comment: Mr. Tesla said, “there is radiant energy, perpendicular to the surface of any charged conductor, produced
by a scalar electromagnetic field, thus giving rise to longitudinal electromagnetic waves”.

«—1 » Radiant
«—1—» energy
Side view —1 Top view

At first glance, this contradicts the age-old experience in studying the electromagnetic field (according to modern
concepts, any electromagnetic field has components which are perpendicular to the direction of the propagated
electromagnetic wave), also, Maxwell's equations describe an electromagnetic field as a vector. However, the first
impression is erroneous, and no contradiction exists.

Definitions of Physics: Any conductor has both inductance and capacitance, that is, the ability to accumulate charge
onit’s surface. A charge on the surface of'a conductor creates an electric field (electrostatic field). The potential
(voltage) at any point of the electric field is a scalar quantity!!! (That is, it is a scalar electric field ...).

«—1 5 Field ofany
< > charged
Side view «1 5  conductor Top view
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Ifthe electric charge of the conductor varies with time, then the electrostatic field will also vary with time, resulting in the
appearance of the magnetic field component:

-

Thus, the electromagnetic wave is formed (with the longitudinal component of E ...).

¥y
m

REMARK: In order to understand how a longitudinal wave interacts with conductive bodies, one needs to read the
section of electrostatics entitled "Electrification by Influence". Particularly interesting are Maxwell's equations where
they mention the displacement current.
Now we cone to the first secret:
SECRET 1
The power source in Nikola Tesla’s free energy device, the amplifying transformer, is a

SELF-POWERED L-C CIRCUIT

EXPLANATIONS:

An ordinary LC circuit — with decay
. Ui

A

L :: C \Um\_}ﬁ Pt t

Nikola Tesla LC cireuat —with amplification
& U(t]
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AN EXAMPLE OF UNLIMITED VOLTAGE RISE
(Based on batteries and a switch)

EXPLANATION: Batteries 1 and 2 are connected to the capacitor C alternately, through the inductances L.
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Voltage on capacitor C and the voltage fiom the batteries are increasing. As a result, there can be unlimited voltage
rise. When the voltage on the capacitor reaches the desired level, it is connected to the load.

COMMENT: Two diodes were used to avoid synchronisation requirements. Manual or relay switching can be used.
One implementation used a spark gap to connect the output load but a switch is an alternative method.

TIMELINE FOR THE PROCESS:

& U(t)
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Cutput Sparks

The schematics can be simplified, and only one battery used (load is connected in the same way).
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COMMENT: Maybe Alfred Hubbard used an idea shown as option B, in some versions of his transformer
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COMMENT: Ifyou want to get a self-powered circuit, you have to arrange some kind of energy feedback to the
batteries. But, is this an actual FE technology? I amnot sure. ...

QUESTION: Is this the only way to do it? No, of course not - there are different ways of doing it. For exanple,
you can use fields nside and outside of some LC circuits. How can we do that?

For more secrets read the following parts. ..

HOW DO WE GET THIS RESULT?

AN ANSWER: You need to charge the capacitor using the electric component of the electromagnetic field of the
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inductor (using the displacement current of Maxwell’s equations)

H(t)
4—T—-—=a—-———- Magnetic
e St ey bt Sk st St
Electric Pl :
feldfom  E(t) vy vy v
Inductance

1 ~*  field from

Inductance

EXPLANATION When the electric field in capacitor C is decaying, due to feeding electrical current into an inductor
(not shown), the external electric field generated by the inductor tries to charge this capacitor with the inductor’s
displacement current. As a result, the capacitor draws energy in from the surrounding electromagnetic field, and the

capacitor’s voltage rises cycle by cycle.

IMPLEMENTATION A — a central capacttor is used:

]
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Half of the coil
is wound to the —

——————

'. right — = _ j
'*\ Capacitor C f-‘
\ ¢
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Magnetic
field from
Inductance
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! Half of the coil v

Jf is wound to the
] left ——==

IMPLEMENTATION B — no capacitors are used:
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In this case instead of using a capactitor, the capacitance between the two sections of inductor L provides the necessary
capacitance.

HOW DO WE START THE PROCESS?

In implementation A, you must charge the capacitor and connect it to the inductor to start the process.

In implementation B, you must use an additional pulsing or “kicking” coil, which starts the process by providing a pulse
in either the electrical field or the magnetic field (shown later on).

HOW DO WE STOP THE PROCESS?

The process of pumping energy can continue uninterrupted for an unlimited length of time and so the question arises;
how do you stop the device if you should want to?. This can be done by connecting a spark gap across the coil L and
the resulting sparking will be sufficient to stop the process.

THE “KICKING” PROCESS WITH AN ELECTRIC FIELD
Use an additional special “kicking” coil, which can generate short powerful magnetic pulses, and install an amplifying
Tesla coil along the electrical vector of the electromagnetic field of this coil.

Amphitymg

Tesla Coil e
: I \'\-_;-’
<t S R - Electrical

- ~TTTTT ¢ field from

“Kicking”

- ———

= = Coil
______ " SRR -

Y [— e
- e

_______ 1 I
(% Kicking”
Coil

The electrical field of the driving pulse or “kicking” coil will charge the spread capacitors of the inductor, and the
process will be started. Use pulses as short as possible in “kicking” coil, because the displacement current depends on
the speed of the changes in the magnetic field.

THE “KICKING” PROCESS WITH A MAGNETIC FIELD
It is not possible to “kick” the process by displacement of the amplifying Tesla coil in the uniform changing magnetic
field of the “kicking” coil, because the output voltage on the ends of the Tesla amplifying coil will be equal to zero in this
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case. So, you must use a non-uniform magnetic field. For that you must install a “kicking” coil, not in the centre of the
amplifying Tesla coil, but positioned away from the centre

o o~
S S
Centre of the
Amplifying
Tesla Co1l

IS THAT ALL TRUE, AND THE BEST TECHNIQUE TO USE?
No, it is not! Nikola Tesla found more subtle and more powerful method — his bi-filar pancake coil!

BI-FILAR PANCAKE COIL - MAY BE THE BEST METHOD
The voltage between adjacent turns in an ordinary coil is very low, and so their ability to generate additional energy is
not good. Consequently, you need to raise the voltage between adjacent turns in an inductor.

Method: divide the inductor into separate parts, and position the turns of the first part in between the turns of the
second part, and then connect end of the first coil to the beginning of the second coil. When you do that, the voltage
between adjacent turns will be the same as the voltage between the ends of the whole coil !!!

Next step — rearrange the position of the magnetic and electric fields in the way needed for applying anmplifying energy
(as described above). The method for doing this is — the flat pancake coil where the magnetic and electric fields are
arranged in exactly the way needed for amplifying energy.

Front view side view

Magnetic
Field

Coil for electromagnets

Now, it is clear why Tesla always said that his bi-filar pancake coil was an energy-amplifying coil !!!

REMARK: for the best charging of the natural self-capacitance of the coil, you have to use electric pulses which are
as short as possible, because the displacement current as shown in Maxwell’s equation, depends to a major degree on
the speed of the change in the magnetic field.

THE DUAL-LAYER CYLINDRICAL BI-FILAR COIL
Instead of the standard side-by-side cylindrical bi-filar coil, the coil winding may also be arranged in two separate
layers, one on top of the other:
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THE ELECTRO — RADIANT EFFECT
(Inductance in an electrostatic field)

EXPLANATION

The primary coil in Tesla’s transformer is the first plate of
the capacitor. The secondary coil - is the second plate of
the capacitor. When you charge a capacitor C from your
source of energy, you charge a wire of the primary coil
also. As a result, a wire of the secondary coil is charging
also (as a return from ambient space).

In order to start the process, you have to remove charge
from the primary coil (by arranging a jump in potential in
ambient space). When this is done, a huge displacement
current occurs — as a result of that potential jump.
Inductance catches this magnetic flux, and you have
energy amplification.

Ifthis process is operating, then you generate a magnetic
field in ambient space.

COMMENT: The capacitance of the wire of the

primary coil is very low, and so it takes very little energy 2 — / A

to charge it, and a very short spark to discharge it
(without removing charge from the capacitor C).

COMMENT: Notice that the spark gap must be
connected to the ground as, in my opinion, this is a very
important feature of this process, but Mr Tesla did not

The secondary
coll - the second
plate of the
capacitor

The primary coil
— the first plate
of the capacitor

First layer
R

4

“ery shart spark — for
charge removal from
the primary coil

NO
CURRENT
CHARGE
REMOVAL
ONLY

Tesla's Magnifying Transmitter

show grounding. Perhaps this needs to be a separate grounding point.

REMARK: Inmy opinion, this technology was also used in Gray’s device and in Smith’s devices and in both cases

the spark gap was connected to the ground.

ALSO: Pay attention to the words used in Gray’s patent ... .. for inductive load”.

And, pay attention to Smith’s words “1 can see this magnetic field, if T use a magnetometer”.

MODERN IMPLEMENTATIONS
m self-powered L-C circuits

EXAMPLE 1
Using a bi-filar coil as the primary coil in a resonant Tesla transformer
By Don Smith
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Spark gap |

Explanation: The bi-filar primary coil is used as primary for energy amplification, and is pulsed through the spark
&p.

EXAMPLE 2
By Mislavskij
Is comprised of two capacitor plates sandwiching a ferrite ring core with a coil wound on it:

EXPLANATION

‘When a capacitor is charging (or discharging), this “displacement” current flow generates a magnetic field in the vacuum
in a circular form (Maxwell’s equations). If a coil is wound on a ferrite toroid placed between the plates of the
capacitor, then a voltage is generated in the turns of that coil:

Circular magnetic field
Output power
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Also, if an alternating current is applied to the coil wound on the ferrite toroid, then
voltage is generated on the capacitor plates.

If an inductor and a capacitor are combined in an L-C circuit, then there are two
cases nside such an L-C circuit:

a) energy amplification and b) energy destruction

The situation depends on how the coils and capacitor are connected together

. e —
| |

>y

s e

Energy Generation Energy Destruction

COMMENT: If the direction of the turns in the coil wound on the ferrite core is reversed, then the wires
connecting the coil to the capacitor plates need to be swapped over as well.

The first experiments with a ferrite core inside a capacitor were
made in 1992 by Mislavskij (a 7th-year pupil of the Moscow Prototype \
school), and so it is known as ‘“Mislavskij’s transformer” Transformer: =

a

THE SAME APPROACH?
By Don Smith

In this arrangement, the capacitor is charged by sparks and powerful displacement current is produced. The
transformer with the ferromagnetic core is collecting this current.

D00 GMUOONEE e g ot
'/ 7

Wetitas Cobalt Transtormer

THE SPARKAGITATES THE AMBIANT MAGNETIC FIELD™ RADIATING ELECTRONS OVER.T0.THE TRANSFORMER WHERE
THEY ARE CONVERTED INTO USEFUL ELEL TRICITY " AMPERAAE 15 PROVIED BY/A PROPER EARTH GROUND)

COMMENT: This schematic diagramis very rough, and lacking in details. It will not perform correctly without back-
electromagnetic force suppression of some kind (see below).

SECRET 1.1
Back-EMF suppression in a resonating Tesla coil
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Version 1
The primary and secondary coils, and the ground connection in this Tesla coil are arranged in special manner:

Winding direction
for two parts of the

) Secondary coil
secondary coil

consisis of two

Ctput spark parts connected
LY i1 the middle
< O Free end
Load > Primarv coil,
o placed in the
Ground Exciting spark middle of the
= ot secondary

Explanation: The exciting (driving) current and the load current in an electromagnetic field, are perpendicular to each
other as shown here:

H:

For load
/,A" A / For resonance

current (or excitation)
current

H;

.

COMMENT: Inorder to get an energy gain, the frequency of excitation of the primary coil must be the resonant
frequency of the secondary coil

Metal plates
\ / 'Primany’ coil
=0 : )] B [

J Strong permanent

Metal plate 'Secondary’ coil

H‘“"Plastic sheet

'-"'F‘ magnet spark
S LOAD T snuffer
| Earth | Earth High-voltage
p— — DC supplhy
Dan Smith Mikola Tesla

COMMENT: Excitation with just a single spark is possible.

COMMENT: InMr. Tesla’s termnology, this is pumping charges or charge fnneling, the charge is coming from the
ground (which is a source of energy).

POTENTIAL (VOLTAGE) DISTRIBUTION ON THE COIL

i

Prototype Codl
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Before the ground spark U0
; N
or one moement

Added by ground spark T30

For one moment
i

EXPLANATION: The task of the oscillating circuit is to create a local electromagnetic field with a large electrical
component. In theory, it would only be necessary to charge up the high voltage capacitor just once and then a lossless
circuit would maintain the oscillations indefinitely without needing any further power input. In reality, there are some
losses and so some additional power input is needed.

THESE OSCILLATIONS ACT AS A "BAIT", ATTRACTING CHARGE INFLOW FROM THE LOCAL
ENVIRONMENT. Almost no energy is needed in order to create and maintain such a "bait"...

The next step is to move to this "bait" to one side of the circutt, close to the source of the charges which is the Ground.
At this small separation, breakdown occurs and the inherent parasitic capacitance of the circuit will be instantly
recharged with energy flowing into the circuit from outside.

At the ends of the circuit there will be a voltage difference, and so there will be spurious oscillations. The direction of
this electromagnetic field is perpendicular to the original field of the "bait" and so it does not destroy it. This effect is due
to the fact that the coil consists of two opposing halves. The parasitic oscillations gradually die out, and they do not
destroy the “bait” field.

The process is repeated spark by spark for every spark which occurs. Consequently, the more often sparks occur, the
greater the efficiency of the process will be. The energy in the "bait" experiences almost no dissipation, providing a
much greater power output than the power needed to keep the device operating,

TESLA SCHEMATICS

COMMENT: Don Smith named this technology “Bird on the wire”. The bird is safe on the wire until a spark occurs.
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PN A

COMMENT: Mr. Tesla named this technology a “‘charge funnel” or “charge pump”’

THE PRINCIPLE OF THE TECHNOLOGY

1. This Free-Energy device generates an AC electrical potential in ambient space (“bait” for electrons),
2. Electrons flowing through the load, flow in from the environment, attracted by this “bait” (pumped in)

NOT A SINGLE ELECTRON USED FOR EXCITING AMBIENT SPACE NEEDS TO FLOW
THROUGH THE LOAD
Stars

Particles and radiation ) .
Particles and radiation

=un

Earth 15 a charged body

1. Potential (Voltage) — from FE device :> Free Energy
4 =B

Electrons (Current) — from external body

POSSIBLE DESIGN FOR THE “CHARGE PUMP” or “CHARGE FUNNEL”

By Edwin Gray
Probable Schematic for Edwin Gray’s Cold Electricity Circuit
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Central part of the device
consists aof the rod for the
excitation of ambient space and
the grid for charge-purmping
fram the ground %

Timer circuit
10 microsecond
impulse generator

| P
f&‘\E .5

|
L bize
Gray's tube

p——

A2,

\. it
. | N 36
A Iqa i'\_jl —lEMT

L L1 L
709 |mees
g 200

—
o

EXPLANATION: This schematic is a simplification of Gray’s patent, produced by Dr. Peter Lindemann for greater
clarification in his book
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Gray’s tube " Gray's original

A POSSIBLE DESIGN FOR THE “CHARGE PUMP” or “CHARGE FUNNEL”

2
me
AT

Alternating E-field E
(Longitudinal wave)

J.\I

HY HF

Generator E

EXPLANATION: The charging systemis unable to “see” the field inside a charging capacitor.

COMMON VIEW OF RESONANCE: Resonance is not destroyed if you short-circuit or open a “pumping”
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capacitor.

L This capacitar is a

aYaTara / part of resonance

Generatar r‘/#
This capacitor is out
of resonance
-_L

COMMENT: You can add an ordinary, very large capacitor in parallel with the “pumping” capacitor for more
mpressive results.

Don Smith illustration

Alternating o L ——
b GER
E-field d M %

8~ i - — Eis oy "
COMMENTS: You have to use an alternating E-field, in order to charge the capacitor. But, Smith marked the North

and South poles in his drawing, I think that this is true for only one instant. Diodes are not shown in his drawings, which
indicates that his device as shown, is, to my mind, not conplete.

THE EXTERNAL APPEARANCE OF ED GRAY’S TUBE

EXPLANATION: Gray’s tube with it’s two internal grids is seen in the middle. Two diodes are underneath the
acrylic sheet (???). A Leiden Jar is located on the left (???) The HF HV coil is behind Gray’s tube (??7)

HF HV

i sz oy J
v/ coll ?
1";:/ ¢

A POSSIBLE DESIGN FOR THE “CHARGE PUMP” or “CHARGE FUNNEL”
THE TESTATIKA by Paul Bauman

EXPLANATION: The central electrode in the jars (capacitors) is for the excitation of ambient space; the two external
cylinders are the plates of the charging capacitors.
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Wiring diagram with ¥Yan de Graaf for HY
August 30, 2006

n n
N\, \

CH2 on scope

iH

CH1 on scope

EXPLANATION: The charging mechanism is unable to “see’ the field inside the charging capacitors.
COMMENT: For more details read the section on asymmmetrical capacitors.

A POSSIBLE DESIGN FOR THE “CHARGE PUMP” or “CHARGE FUNNEL”

COMMENT: This is based on Tesla’s schematics

Tmaii copacily Smaif capacily
\.,—---v-..____‘___._- rode =TT o
[ B T -':_'-_,_ —— ¢
_____ - | B S
L e == | e
]
| BT e
ﬂﬂﬂﬂﬂﬂﬂﬂﬂ [ o]
Smalica, / keox -
patfﬂ/
dage capacily

COMMENT: First, youneed to arrange a “voltage killer” barrier on one side of the Tesla coil. This is to create a
“BLIND” charging system which can’t “see” the charge on the capacitor (see below for more detail on “blindness™).

COMMENTS: Huge capacitor means: as much ordinary capacitance as possible.  Effectiveness depends on
voltage and coil frequency, and current in the node.  Effectiveness depends also on the frequency at which the
excitation spark occurs. It is very similar to Don Smith’s devices.

Web2

converted by Web2PDFConvert.com



http://www.web2pdfconvert.com?ref=PDF
http://www.web2pdfconvert.com?ref=PDF

X & ’
Tesla
Coil
Excitation spark
—<Z In resonance F1 or
one spark excitation
(as Smith)
F1
Ulz)
| Mode Long line, or foil wrapped plastic
An ordinary huge
capacitor
Avramenko’s (Is foil wrapped
plug \ plastic better ¥77)
RL

COMMENT: For more details read part devoted to Avramenko’s plug. ..

POSSIBLE DESIGN FOR THE “CHARGE PUMP” or “CHARGE FUNNEL”
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Tesla
Coil

FExciting spark

—/\i/\‘/’lnresonance Flor

one spark exciting

- (as Smith)
Ul Voltage killer — node arranger
\1 Mode Foil wrapped plastic

Don Smith illustration
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000000° i

Ix ALternaTing FLecTRicaL Enerey Svstems. Omiy tue PoTeEnTiAL-IMPACT
p—

LeveL RerLicates [1's SeufF AT Poimr "B ELecTrons 02 woT TRaveL
*A* 10 Pornr “b*.

From PoinT
EXPLANATION: The charging systemis unable to “see” the field inside the charging capacitor
COMMENT: For more details read part devoted to Avramenko’s plug. ..

COMMENT: An ordinary piece of wire can be used in some versions of this device, read below. ...

ENERGY REGENERATION BY
L/4 COIL

COMMENT: This systemis based on wireless energy transmission through the ground

Elevated Copacily Flevated Capacity Elevaled capeacdy Flevared capacly
Regormamt
adustable .
.Puiln witg Alternalor  Recerver
TraamsmiHer circwid oy -
S 12 sk potertal
@ Sl B2 adpustale reronant oinduefance

Tresnssmitfer Becever

s e v £t vt N
W Grognd - F - ' P—

COMMENT: Energy radiated to ambient space lowers the efficiency of this process
COMMENT: The Receiver and Transmitter coils must have the same resonant frequency
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EL

i o4 Transmitter il -
’ Coil A\ /Q
Cutput spark F2
Excitation spark F1 Fl==F2
EFeceiver
Coil
- F1
Uiz Long wire (woltage killer) uzed as abig o
i capacitor |
Mode ode

There is IO voltage i thiz wire QINLY CURRENT

COMMENT: Possible alternative arrangement:

EL
]
VAL
Cutput spark F2

Eeceiver
ol

Excitation spatk F1 Fl
/\/ Tiz)

= J
k Node

COMMENT: A metal sheet can be used instead of a long wire

The “COLD” and “HOT” ends of a Tesla Coil
by Donald Smith

COMMENT: Ifthe excitation coil L2 is positioned in the centre of coil L2, then the Tesla Coil will have a “cold” end
and a “hot” end. A spark gap can only be connected to the “hot” end. You cannot get a good spark if the spark
gap is connected to the “cold” end.
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Tesla Coil _Geometry *

“Hot end” “Cold end”
et valts Eueni-Ampaes
P - —
Cotecl Mot \ ‘ I,H.ulhl‘; Irvano squone low '.\rl:l;-m
My
;“H:I:;:wm“:f;“ ‘ VO"S Ampe:lcs # Hol-Tires] Seoed (& Inouse IR
maonne e o sis Seonce ?W'B?i;u::‘tplﬁh‘k?ﬂ:rfﬂm
They oma DQUERCY NaNEpeCific. '““’"“‘mc - me'? e
L - 2 cormerh cieciy o Amperoge

Voils doménate il ihe L-1 Colis far dght
Volis and Amperes obout equal it 11 Coil centered

This Ened Hos Greoter Voltoge This End Hos Greoter Amperage
Distibutive Copacitance of Modimum Distibutive Inductance at Maoxmum
Capoacitonce-CoutombeYoltoge Incucion-Hereys-Amperog e

Volioge has Electrons spinning o Lefl Ampetapge hos Bechons spihning to Right

Volls represant the more negafive ond Ampanes the
less negolve, Therelore the elecical charge of mone
negotve must seek fhe less negolive to regain ambiont.

* Comlains proprietary information related lo Patent Procedure Donald L. $mith
Goometry - properties of bnes, suriaces and solids 2 No'.ren'rt;cr_ 195

COMMENT: This is very important for practical applications, so read Don Smith’s documents for more details.

Dervation of Magnefic and Sectrical Power
Anologous Bekiiceshios:
1, Bodentiol Powesr & pressnt in a Do mognet o shown.

BOCH AL [Spacs]
[Apo ot Eecon Smin Sapsaratian b

More Hmprhe @ (lf/ﬂ g R
R

Fi
Demain haE
Lan rand s
= Source af Vatsd

Do hok
Right hand soin
| = Sginge of Ampeses )

3 The Source of these Eleciion: being fom the Salor Fasma,
cre none jonc G oocupy ol Free Space. Thay o
correanty cbfomed from Eort and A Goundings. They
emistin Doublet Pole, one being Mo negoTive than the ather.
The mone negaotive ane hos o LettHand Spin. The les
repative G Ras a Eght Hond Sgin.

Resenate Elachical Coil Systerrs ( Tadia ) are Analpooe o
the Bystem cisansad in the 2ar Magnet (above b The Boch
Wall Ao & locoted ot the bose of the L-2 Col The Laft
Spin portian{ Veltogs Only ) part of the Col predorminates.
The aght hand pin partion [ Magnetic-Ampenga ) particn
is rocslly cisent,

o]

COMMENT: It is easy understand the “Hot” and “Cold” ends, if one end of Tesla Coil is grounded. ..

The Grounded Tesla coil — a hidden form of energy

EXPLANATION: We can look at the Tesla coil as a piece of metal. Every piece of metal can be charged. If Tesla
coil is grounded, it has an extra charge delivered from the ground, and has an extra energy also. But, it can be find out
only in electrostatics interactions, not in electromagnetic one.
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’ X r ,
One layer One layer
Cuoil Coil
| I Zero extra |
charge

— Wk

k _—

Mot .
grounded Grounded

Comment: This diagram shows only one instant, after halfa cycle, the polarities will be swapped over.
Question: How can we use this fact?

Answer: We have to arrange an electrostatic interaction:

S — R A—h
w4 ’ $ ,
+ + Mon Zero

Zero extra eutra
charge Bifilar charge

\ winding ‘,

Bifilar
winding
[ ]

OR

= YA

Comments:
Extra capacitors can be used for charging them.

This looks like Smith’s plasma globe device. Maybe, he used this technology.

This can be used in charge pump technology for excitation by an alternating electrical field, read the section on the
charge punp or charge fimnel.

The wiring can be different to that shown above.

Examples of grounded bifilar (multi-strand) coils
From Tariel Kapanadze in his 100 KW device
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Bifilar cail

Bifilar cail

Grounding board

from Donald Smith

Ifult strand cod

Globe device for energy generation
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Possible simulation of the L/4 wave “Cold” and “Hot” ends

~ +

+ ’ 4 i th ..L hX ) e
q t R LD
# U=y Uiz Ti=) Ti=)
/ Cne layer Tode Cne layer Wede Two layer Hodes
Zoil Coil Coil
Huge Resonanic
‘o'll]lfﬂg'l‘ esonance
“____-_-_* — +
Ay .'L b5
\?)
(=) Ul=)
MNode
Huge Two l_ayer
- Coil — :
cmrent | Core inside 15 ontional |
MODEERN OPTIONS
In hack EMF suppression
Version 1
SYMMETRIC AL VERSION W Sl sy ey

desired Amperage Oulput

By Don Smith

Web2

converted by Web2PDFConvert.com



http://www.web2pdfconvert.com?ref=PDF
http://www.web2pdfconvert.com?ref=PDF

Step-down
0 to mains voltage 0to %, 00 volts transformer pgo.oe voltage

Mains & 60 Hz I5.1 kHz 1
‘g L OAD

voltage |
Waristor

i
—]

Heon-tuhe
Inverter driver
: Spark
* Variac J__ qap
12v \

CONTROL
Voltage — Spark
frequency

—

__ 1?',% = .q'

.'J

Step-down
transfarmer

'J—:"

Neon-tube
| Inverter I: driver

12

Primary ¢oil in Smith's
device plays the same
role as the rod in
Gray's tube. These
devices use the

same principle.

Explanation:
Both of'the two out of phase outputs were used and both connected to the step-down transformer.

1. Between sparks:
There is no current in the step-down transformer and so the two ends of .2 are at the same voltage.

2. During a spark:

Parasitic capacitors (not shown) of L2 (it’s up and down parts) are discharged to the ground, and current is produced
i the step-down transformer. One end of L2 is at ground potential. But, the magnetic field of this current in L2 is
perpendicular to the resonating field and so has no influence on it. As a result of this, you have power in the load, but
the resonance is not destroyed.

COMMENTS: Inmy opinion, these schematics have errors in the excitation section. Find those errors.
Excitation by a single spark is possible.
In the terminology of Mr. Tesla, this is a ‘charge pump’ or ‘charge funnel’.

The charges are coming from the Ground which is the source of the energy.

There are more secrets in the following parts.

SECRET 1.1
Back EMF suppression in a resonance coil
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Version 2

Primary and secondary coils are placed on a rod core. All of the coils are arranged in special manner. The primary coil
is placed in the middle of the core. The secondary coil is in two parts which are positioned at the ends of the rod. All of
the coils are wound i the same direction.

Secondary
(load) coil J
e Output
v | YL
— —
Rod core

‘_—_—
m Primary

(resonance) coil

Explanation:
The electromagnetic fields produced by the resonant (excitation) current and the load current are perpendicular to each
other:

H;

H:
For load P For resonance
current T {or exciting)
| #  current

So, although you have power in the load, resonance is not destroyed by that output power.
COMMENTS: The load must be chosen so as to get the maximum amount of power flowing into it. Very low loads
and very high loads will both have close to zero energy flowing in them.

The secondary coil is shunting the primary coil, and so it has a current flowing in it even id no loads are connected.

The secondary coil can be adjusted for resonance too.
The “rod” material can be air, or other materials.

SECRET 1.1
Back EMF suppression in a resonance coil
Version 3
(long line usage — bifilar usage)

EXPLANATION: It is very much like Version 1, but here, the two coils are combined into a single coil.
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REMARK There 15 no current
1n the load without spark

Rp
Secondary (load}

bifilar or long line coil Qutput spark
N v

— WM j_gmn q

Primary (resonance}
coil

IT IS IMPOSSIBLE!
(Without back EMF suppression)
By Don Smith

Multi-coil system for energy multiplication

COMMENT: Youdecide how you think it was made. Maybe short-circuited coils will be useful. . .

Read the following parts to discover more secrets. . .

IMODERN OPTIONS?
For Back EMF suppression
Version 3

BI-FILAR USAGE
By Tariel Kapanadze

The zecond end BC — free
Mot showt)

Secondary
Bifilar Coil (BC)
Is not grounded

Step-Down
transformer
Is grounded
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Possible schematics of the device

 Free end

TT2

Ordinary
coil

Load

Power

BI-FILAR USAGE
By Timothy Trapp

COMMENT: See Trapp’s sites for more details

POSSIBLE CORE CONFIGURATION
For back EMF suppression

BI-FITAR WINDING

—

COMMENTS: An ordinary excitation winding is wound all of the way around a toroidal core. A bi-filar output
winding is wound around the whole of a toroidal core. Remember about the “Hot” and “Cold” ends of a bi-filar coil

ORDINARY WINDING Cutput coil
consists of
two parts

Ezcitation coil

COMMENT: Remember about the “Hot” and “Cold” ends of the output coil
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Cutput coil
consists of
two parts

E-TYPE COREA

Ezcitation coil

THE BASIS OF BACK EMF SUPPRESSION

(Tesla patent)
(Ko Model.) N. TESLA. % Bheats—BShest L
REGULATOR FOR DYNAMO ELECTRIU MAQHINES.
No. 336,061, Patented Mar, 2, 18886.
izt

P
e

FRITTAINY,

- Peikobea cJesbe
"‘f"""‘% oo Gppessst, B Spus sl
e P e =

SECRET 1.2
The Spark-Exciting Generator (“SEG”)
(Charge delivering to LC circuit)

riegy
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\ - Capacitor Bank
REMARK The frequency of sparks 1s equal to the resonance frequency of the Tesla coil, and the

moment of exciting corresponds to the maximum voltage on the Tesla coil.

Line dependent on the voltage

Uty

E(t

Square dependent on the energy

Exeitation sparks

For the best result |

Turabls Coil System
Inszrtable Moveble L-1

EXPLANATION:

The spark delivers charge to the L-C circuit

The charge Q on a capacitor C with voltage Uis: Q=UxCorU=Q/C
Where Q is a charge delivered by one spark.

During the excitation of the L-C circuit by the sparks, the capacitance C is constant.
After N excitations, the voltage Un on C willbe Un=N x Q / C And, energy En will be raised as NZ.
In other words, Ifthe L-C circuit is excited by charges, we have energy amplification.
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POSSIBLE MODIFICATION

HV transformer

(Insulated from ground)
or Tesla coil .
Q Unipolar
Excitation spark
Cutput
spark i Resonant
O O Tesla coil
Parasitic
——
Load L

mmmm O capacitance
Tesla co1l or
capacitor

bank

— Ground

COMMENT: You need to understand that a feedback loop in the electromagnetic field is a changing voltage level in
the L-C circuit capacitor, a high-voltage transformer is connected to collect the excess energy.

WITHOUT SYNCHRONISATION
HV transformer

(Insulated from ground)

or Tesla coil
o Unipolar
Excitation spark
(o]

Output
oy

o}
% — N ;
Load 3 | C ;,;Tmtors

Step-down transformer

= Ground

The Spark-Exciting Generator

From Don Smith
12 Free
1 end
Air Core w b
Power Source MoDULE Hiey VoLTAGE IHDUCTION w =
u;‘ TrausroRMER HODULE Inpucvion Loty =g
'l ManuLE 25 o
= E ut}i:ut
= 5 Spat.
i1 a

pry

—
14
% !ﬁ__' Er
CapaciToR
3 \_64—7 * Larger MopuLes co o 10 H'|L1PIC|N JT:?

LUS. —
5 =

Pepts: 1. ColL. VARIABLE. 2. CaPACITOR. VARIABLE, 3. Resistor. VariapLe. 4, Transistor. R.F..
5, BarTery. RECHARGEABLE. B, OFF=0N SwiTcH, Vamiasre. 7. High VOLTAGE TRANSFORMER.
£, Feep Back wiTH SPArk Gap, 9, Reactor. Inpuction CoiL. 10, Feen Back wiTH Spagk GaP .
11, ReacTant Cot. 12. Outeur For # 11, 13, Iweut For ELEvEN. 1i, GROUNDING FOR ELEVEN.

f\ == V.
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Time line for SEG

\}\ WA \ﬂ \J] _\ﬂ t
UU UU UU UU UU

— = "

Cutput sparks

MAINTAIN RESONANCE AND GET FREE-ENERGY !!

EXPLANATION: It appears that we need to charge the capacitor circuit to an energy level which is greater than
that of the source energy itself. At first glance, this appears to be an impossible task, but the problemis actually solved

quite simply.
The charging system is screened, or "blinded", to use the terminology of Mr. Tesla, so that it cannot “‘see” the presence
of the charge in the capacitor. To accomplish this, one end of a capacitor is connected to the ground and the other end

is connected to the high-energy coll, the second end of which is fiee. After connecting to this higher energy level from
the energising coil, electrons from the ground can charge a capacitor to a very high level

In this case, the charging system does not "see" what charge is already in a capacitor. Each pulse is treated as if it were
the first pulse ever generated. Thus, the capacitor can reach a higher energy level than of the source itself.

After the accumulation of the energy, it is discharged to the load through the discharge spark gap. After that, the
process is repeated again and again indefinitely ...

COMMENT: The frequency of the excitation sparks, must match the resonant frequency of the output coil
(capacttors 2 and 14 are used to achieve this goal). This is muilti-spark excitation.

COMMENT: Charges are pumping from the ground to 11-15 circut, this device extracts charge from ambient
space. Because of this, it will not work properly without a ground connection. If you need Mains frequency, or don’t
want use an output spark, then read the following parts. ..

Asymmetrical transformers can be used (read the following parts)

POSSIBLE SEG ARRANGEMENT

(From Russian forum)
Output spark 12
® - .
Tesla == r=>12 Ty
coil == L2 _r,‘*.-"
= = Voo
=== Ly
= = L&y
Excitation spark 50
r1 == ———
% e == /
e T a7 S
R1 R2

Step-down transformenr

COMMENT: The L1 Tesla coil shown above, is energised by spark fl. Resonant, step-down transformer L2 is
connected to the L1 Tesla coil by output spark 2. The frequency of fl is much higher than that of 2.

SEG WITHOUT SYNCHRONISATION
From Don Smith
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Three metal
sheets are used

Pay attention
to this part. ..

REMARK: It must be adjusted by dimensions, materials (?7?)

Possible schematics

T T -
0~

This 15 not
completed, .

EXPLANATION

REMINDER: An ordinary capacitor is a device for separating charges on it’s plates, the total charge mside an
ordinary capacitor is zero (read the textbooks).

+a - +q -

There is an electrical field only iside the capacitor. The electrical field outside the capacitor is zero (because the
fields cancel each other).

So far, connecting one plate to the ground we will get no current flowing in this circuit:

e E—
E— e
> OR -
u=0 u=0
RL RL
e E—
e E—

REMINDER: A separated capacitor is a device for accumulating charges on it’s plates. The total charge
on a separated capacitor is NOT zero (read the textbooks). So far, by connecting one plate of the separated
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capacitor to the ground we will get a current flowing in this circuit (because there is an external field).

U#n RL +«— | —» OR — e —

]

REMARK: We get the same situation, if only one plate of an ordinary capacitor is charged. So far, connecting an
uncharged plate of an ordinary capacitor to the ground we get a current flowing in this circuit also (because you have
an external field).

a=0 Q=0
N
—1t|— —_— «u—i
—}t]|— — | —
U=0 R —1|—» OR s lef— RL U=20
—}t]|— — | —
—}t]|— — | —

]

Alternately charging a capacitor’s plates
Avramenko’s plug—is it a fiee energy device?

The principle: Each plate of a capacitor charges as a separated capacitor. Charging takes place in an alternating
fashion, first one plate and then the other plate.

M—GL G P

The result: The capacitor is charged to a voltage which is greater than that which the charging system delivers.

Explanation: The external field of an ordinary charged capacitor is equal to or near zero, as noted above. So, if you
charge plates as a separated capacitor (upload or download charge), the charging system will not “see" the field which
already exists inside the capacitor, and will charge the plates as if the field inside the capacitor is absent.

Before After
charging charging
A b A K|k A 4 A
w KOV |
I I YYYY¥YvVYyVYVYy
External field is absent External field is

present

Once a plate has been charged, begin to charge another plate.
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Before After
charging charging

i R

External field is External field is absent
present

After the second plate of the capacitor has been charged, the external field becomes zero again. The charging system
cannot "see" the field inside the capacitor once again and the process repeats again several times, raising the voltage
until the spark gap connected to the output load discharges it.

REMARK: You will recall that an ordinary capacitor is a device for charge separation. The charging process of a
capacitor causes electrons from on one plate to be "pumped" to another plate. After that, there is an excess of electrons
on ore plate, while the other one has deficit, and that creates a potential difference between them (read the textbooks).
The total amount of charge inside the capacitor does not change. Thus the task of the charging systemis to move

charge temporarily from one plate to another.

The simplest Free-Energy device (??7?)

REMARK: The capacitance of an ordinary capacitor is much greater than the capacitance of a separated plate
capacitor (if it’s plates are close to each other).

Charging
system

Annihilation

I
51_]7_4 spark
é—-\o Cutput

R N | spark

Sz
COMMENT: The time between S1 and S2 is very short.
FIELD BEFORE S1 FIELD AFTER S1
Q=+ Q=0 =+ Q=

“a

e
#####\

A S

U=0 0

c
H

REMARK: This is an illustration of energy-dependence in a coordinated system

REMARK: This is an illustration of the so-called Zero-Point Energy.

ASYMMETRICAL CAPACITOR
(Current amplification???)
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Input
spark
, ANA
Charging |
system
54

Clutput
spark

el

Sz

o0 o————

R.

COMMENT: The capacitance (size) of the plate on the right is much greater than that of the plate on the left.

FIFLD AFTER S1

Q=0
g
>
>
>
>
>

FIFLD AFTFR 52

=+

AR EEEEEEEEER

bt

O=-N0.

X

I

COMMENT: Charges from the ground will run on to the right hand plate UNTIL the moment when the external field
drops to zero caused by the second spark (“S2”). It takes more charges flowing from the ground to annihilate the
external field at the instant of the second spark, because the capacitance of the plate on the right is far greater. “More
charge’ means ‘more current’, so you have achieved current amplification through this arrangement.

COMMENT: The field at the terminals of the plate on the right is not zero after both sparks have occurred, this is
because a field remains due to the additional charges which have flowed in (‘pumped”) from the ground.

THE SIMPLEST ASYMMETRICAL CAPACITORS

The most simple asymmetrical capacitors are the Leyden jar and the coaxial cable (also mvented by Mr. Tesla).

Apart from the fact that the area (capacitance) of the plates of these capacitors is different, and they therefore are

asymmetrical, they have another property:

The electrostatic field of the external electrode of these devices does not affect the internal electrode.
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Field from internal electrode

Field inside
is present

Field from the external electrode

Field inside
iz absent

EXPLANATION: This is caused by the fact that the electrostatic field is absent inside the metal bodies (see
textbooks).

REMARK: This is true provided that the plates are charged separately.
CAPACITOR - TRIODE

{The third electrode in an asymmetrical capacitor)

Field from

input

electrode \\A Cutput
# electrode

Contraol
electrode

Input
electrode

REMARK: Dr. Harold Aspden has pointed out the possibility of Energy Amplification when using this device.

THE PRINCIPLE OF THE “BLINDNESS”
CHARGING SYSTEM IN THE SEG

i

___-,_--——-
—

Generator

%

|

(el et il e

/ | T
. -J \‘ ,” .-r ". i :
Generator \ﬁ" ' IH-' '.'
OUTPUT ~ S
VOLTAGE HERE

EXPLANATION: A “short” coil is not able to see oscillations in “long” coil, because the total number of magnetic
lines from “long” coil through “‘short” coil is close to zero (one half is in one direction and one half'is in opposite
direction).

COMMENT: This a private case of asymmetrical transformer, for more details read part devoted to asymmetrical
transformers.
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L113,782 it . 1584

COMMENTS ABOUT THE SEG:
All Back EMF schematics can be used in SEG

Resonance coil 15
secondary col

Free end Version 1

P Primary coil,

Excitation spark placed in the

— Ground middle of the
secondary

Resonance coil
. . I||
1s secondary coil
R
\ Version 2
—» —»
Rod core

fp————
—_— ‘\\\—
Excitation spark l—fW\(\—l Primary
TT—

(excitation) coil

243
Secondary (resonance) Version 3

bifilar or long lmW
YYY v\ _E-round.
\ Rod core
~ 1>

Primary (excitation coil)

Excitation spark

COMMENT: No current will be produced in the load unless there is a ground connection in any of these circuits. Is
excitation possible with just a single spark (???)
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FOR MORE ASYMMETRY IN SEG ?
FOR ONE SPARK EXCITING IN SEG ?
By Don Smith

Er

— T 3

Additional ——p | Besonance coil is
I secondary coil

capacitor /
]/ r i

l\) -+ --——- ) ---—--» 0 Free end Version 1

Primary coil,

~ 1 placed in the

L Ground Excitation spark middle of the

= secondary
Eeszonance coil Il'

1z secondary coil

v EL
\ Wersion 2
Loh

Eod core

—
Excitation spark {N—‘Y‘:ﬂ—l ‘\\\‘
Primary
\’1—* (excitation) coil
Additional
capacitor Ry
"\\‘
Secondary (resonance)
bafilar or long line coil
T
‘,\ Ground
m \ o
S Version 3
Excitation spark Primary {excitation)

coil

COMMENT: This arrangement becomes more asymmetrical after excitation.

EXPLANATION
Symmetry is destroyed by a spark

Ifthe impedances of Ra and Rc are the same at the frequency produced by signal generator F1, then the resulting
voltage at points A and B will also be identical which means that there will be zero output.
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Cipposite
winding

Crdinary
winding

Generator
F1

Cpposite Ordinary

A winding  winding
TNDN—ZERD
OUTPUT

Ifthe circuit is excited by the very sharp, positive-only, DC voltage spike produced by a spark, then the impedances of

Ra and Rc are not the same and there is a non-zero output.

Here is a possible alternative. Please note that the position of the output coil must be adjusted, it’s best position
depending on value of resistor Re and the frequency being produced by signal generator F1.

Cppostte
winding

A
Generator l
Fi |
RC T
B

Ordinary
winding

ZERO
OUTPUT

Ezcitation
spark

Ordinary
winding

Cppostte

A winding

INUN— ZEROD
T OUTPUT

Here is another possible arrangement. Here, the position of the output coil depends on L1 and L.2:

OppolSItE Crdinary
winding o
A winding
Cenerator Ezcitation
Fl ZERO spark .
| I TDUTPUT
B
A NOMOGRAPH

Crdinary
winding

Cipposite

A winding

TNDN— ZERO
I OUTPUT
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Using a nomograph: Draw a straight line from your chosen 30 kHz frequency (purple line) through your chosen 100
nanofarad capacitor value and carry the line on as far as the (blue) inductance line as shown above.

You can now read the reactance off the red line, which looks like 51 ohmns to me. This means that when the circuit is
running at a frequency of 30 kHz, then the current flow through your 100 nF capacitor will be the same as through a 51
ohm resistor. Reading off the blue "Inductance" line that same current flow at that frequency would occur with a coil
which has an inductance of 0.28 millihenries.

MODERN OPTIONS IN SEG
Back EMF suppression in resonance coil
Version 3
By Don Smith
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Mult1 lime co1

Globe device for energy generation
COMMENT: Please note that a long wire is used and one-spark excitation, where additional capacitors are used to

create non-symmetry (???)

Version???
By Don Smith

Multi coil system for energy multiplication

Version???
By Tariel Kapanadze

KAPANADZE PROCESS
The process requires only 4 steps:
STEP 1

An L-C (coil-capacitor) circuit is pulsed and it’s resonant frequency determined (possibly by feeding it power through a
spark gap and adjusting a nearby coil for maximum power collection).

Web2

converted by Web2PDFConvert.com



http://www.web2pdfconvert.com?ref=PDF
http://www.web2pdfconvert.com?ref=PDF

q
(

STEP 2

The SEG process causes the energy level in the L-C circutt to rise. Power is fed via a spark gap which produces a very
sharp square wave signal which contains every frequency in it. The L-C circuit automatically resonates at it’s own
frequency in the same way that a bell always produces the same musical frequency when struck, no matter how it is

struck.

AT ~
,‘/\\ i

\U'ﬁ'! RN -
SARVARY

¥

STEP 3

The output waveform from the L-C circuit is then manipulated to provide an output which oscillates at the frequency on
the local mains supply (50 Hz or 60 Hz typically).

f/\‘l .f/\. .'/\\.'/\\
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STEP 4

Finally, the oscillations are smoothed by filtering to provide mains-frequency output power.

N N 3

N

- P
% -

COMMENT:  All of these processes are described in Kapanadze’s patents and so, no state or private confidential

information

is shown here. Kapanadze’s process is the SEG process.

COMMENT: As I see it, the main difference between the designs of Don Smith and Tariel Kapanadze is the inverter
or modulator in the output circuit. At mains frequency you need a huge transformer core in a powerful inverter.

Read the following parts to discover more secrets. . .

MODERN OPTION
Lowering the L-C frequency to mains frequency (Modulation)
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Step-down transformer
{current amplification) // IU U U »

Qutput filter

Generator

HF HV S0 (60)Hz

I Mainsfrequency
output

< .
N

COMMENTS: It is possible to use square waves instead of sine waves to ease the loading on the transistors. This is
very similar to the output sections of Tariel Kapanadze’s patents. This method does not require a powerful transformer
with a huge core in order to provide 50 Hz or 60 Hz

Don Smith’s option (guessed at by Patrick Kelly)

Step-dawn
2,000 volts fransformer Mains voltage
‘ (v) | LoAD
t Storage
Mainsfrequency Varistor
i T oscillator High-voltage
semiconductor

COMMENT:  There is no high-frequency high-voltage step-down transformer, but a step-down transformer is used
for mains frequency which means that it will need a huge core.

FOR BOTH SCHEMATICS:
You must choose the load in order to get the maxinum power output. Very low, and very high loads will give almost no
energy in the load (because the current flowing in the output circuit is restricted by the current flowing in the resonant

circuit).

ILLUSTRATIONS FOR FREQUENCY LOWERING
From Tariel Kapanadze
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ENERGY GAIN
(REMARKS on 1.1 and 1.2 SECRETS)

‘We must consider two options:
1. Back-EMF suppression. . . . . . . (1.1).
2. Excitationby a spark . . ....... (1.2).

THESE OPTIONS ARE DIFFERENT

However, in both cases, an increase of energy occurs due to the charges being pumped in from the ground.
In the terminology of Mr. Tesla — “a charge funnel” or in moderm terminology “a charge pump”.

1. In the first case, the problem for the oscillating circuit is to "create" an electromagnetic field which has a high intensity
electrical component in ambient space. (Ideally, it is only necessary for the high-voltage capacitor be fully charged
once. After that, if the circuit is lossless, then oscillation will be maintained indefinitely without the need for any further
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nput power).
THIS IS A "BAIT" TO ATTRACT CHARGES FROM THE AMBIENT SPACE.
Only a tiny amount of energy is needed to create such a "bait"...

Next, move the "bait" to one side of the circuit, the side which is the source of the charges (Ground). The separation
between the “bait” and the charges is now so small that breakdown occurs. The inherent parasitic capacitance of the
circuit will be instantly charged, creating a voltage difference at the opposite ends of the circuit, which in turn causes
spurious oscillations. The energy contained in these oscillations is the energy gain which we want to capture and use.
This energy powers the load. This very useful electromagnetic field containing our excess power oscillates in a direction
which is perpendicular to the direction of oscillation of the "bait" field and because of this very important difference, the
output power oscillations do not destroy it. This vital factor happens because the coil is wound with two opposing
halves. The parasitic oscillations gradually die out, passing all of their energy to the load.

This energy-gaining process is repeated, spark by spark. The more often a spark occurs, the higher the excess power
output will be. That is, the higher the spark frequency (caused by a higher voltage across the spark gap), the higher the
power output and the greater the efficiency of the process. Hardly any additional "bait" energy is ever required.

2. Inthe second case we must charge the capacitor circuit to an energy level higher than that of the source energy itself.
At first glance, this appears to be an impossible task, but the problem is solved quite easily.

The charging system is screened, or "blinded", to use the terminology of Mr. Tesla, so that it cannot “‘see” the presence
of the charge in the capacitor. To accomplish this, one end of a capacitor is connected to the ground and the other end
is connected to the high-energy coil, the second end of which is fiee. After connecting to this higher energy level from
the energising coil, electrons from the ground can charge a capacitor to a very high level

In this case, the charging system does not "see" what charge is already in a capacitor. Each pulse is treated as if it were
the first pulse ever generated. Thus, the capacitor can reach a higher energy level than that of the source itself.

After the accumulation of the energy, it is discharged to the load through the discharge spark gap. After that, the
process is repeated again and again indefinitely ...

THIS PROCESS DOES NOT REQUIRE THE SUPPRESSION OF BACK-EMF

3. It should be noted, that option 1 and option 2 above could be combined.

SECRET 2
SWITCHABLE INDUCTANCE

The inductance is comprised of two coils which are positioned close to each other. Their connections are shown in
front.

H,; H:
1 . N
AN
v
‘Lll L2|| H| L | L ||H
.r'\\___,-'l I | 1 1 2 Z

e
L d
5

y

CONSTRUCTION: When constructing this arrangement there are many different options due to the various types of
core which can be used for the colils:

1. Air-core
2. A ferromagnetic bar core
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3. A ferromagnetic toroidal core
4. A transformer style ferromagnetic core.

L,

=

PROPERTIES: (tested many times with a variety of cores)
The value of the total inductance LS does not change if you short one of the inductors L1 or L2
(This may have been tested for the first time by Mr. Tesla back in the 19th century).

APPLICATION TECHNIQUE:

This energy generation is based on the asymmetrical process:

1. Feed the total inductance LS with a current I

2. Then short-circuit one of the inductors (say, L1)

3. Drain the energy from inductor L2 into a capacitor

4. After draining L2, then remove the short-circuit from L1, short-circuit L2 and then drain the energy from L1 into a
capactor

QUESTION: s it possible, using this method, to get twice the energy amount due to the asymmetry of the process,
and if not, then what is wrong?

AN ANSWER : We need to start winding coils and performing tests.

EXAMPLES OF COILS ACTUALLY CONSTRUCTED

)/
\ m
\"‘—"- I
—
A coil was wound on a transformer ferromagnetic core (the size is not important) with permeability 2500 (not

important) which was designed as a power-supply transformer. Each half-coil was 200 turns (not important), of 0.33
mm diameter wire (not important). The total inductance LS is about 2 mH (not important).

A coil was wound on a toroidal ferromagnetic core with permeability 1000 (not important). Each half-coil was 200
turns (not important), of 0.33 mm diameter wire (not important). The total inductance LS is about 4 mH (not
important).
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An ordinary laminated iron core transformer intended for 50-60 Hz power supply use (size is not important) was
wound with a coil placed on each of it’s two halves. The total nductance LS is about 100 mH (not important).

THE OBJECTIVE OF THE TESTS
To make tests to confirm the properties of the coils, and then make measurements of the LS inductance both with coil
L2 short-circuited and coil L.2 not short-circuited, and then compare the results.

COMMENT:  All of the tests can be done with just the toroidal coil as the other coils have been shown to have the
same properties. You can repeat these tests and confirm this for yourself.

OPTION 1
These simple inductance measurements can be carried out with the help of an ordinary RLC (Resistance / Inductance /
Capacitance) meter, such as the one shown here:

The measurements taken:

The total coil inductance LS was measured without short-circuited coils, the figure was recorded. The L2 coil was then
short-circuited and the inductance LS measured again and the result recorded. Then, the results of the two
measurements were commpared.

The result: The inductance LS was unchanged (to an accuracy of about a one percent).
OPTION 2

A special set-up was used, consisting of an analogue oscilloscope, a digital voltmeter and a signal generator, to measure
a voltage on the inductance LS without L2 being short-circuited and then with L2 short-circuited.

After the measurements were made, all of the results were compared.
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Schematic of the set-up:

Generator N
N9 s
/o /@

Frequency 10 kHz 100 Ohm
Volt:l_ne_-tﬁ-

[ ]

O d

‘?(

The order in which the measurements were taken.
The voltage on the resistor was measured using the oscilloscope and the voltage on the inductor was measured using
the voltmeter. Readings were taken before and after short-circuiting L2.

The result: The voltages remained unchanged (to an accuracy of about one percent).

Additional measurements
Before the above measurements were taken, the voltages across L1 and L2 were measured. The voltage on both
halves was a half of the voltage on the total inductor LS.

COMMENT: The frequency of about 10 kHz was chosen because the coil did not have parasitic resonances at this
frequency or at low frequencies. All measurements were repeated using a coil with a ferromagnetic E-shaped
transformer core. All of the results were the same.

OPTION 3

Capacitor recharge.

The objective was to match voltages on a capacitor, both before and after it being recharged by interaction with an
inductor which could be connected into the circuit via a switch.

/ | No generation ‘

oo

Single pole _
Diouble throwe ;9.9 5

10H

L \ | Generation ‘

ST

The experiment conditions
A capacitor is charged from a battery and is connected to the inductor through the first diode (included to give
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protection against oscillations). At the moment of feedback, half of the inductor is shunted by the second diode (due to
it’s polarity), while the inductance must remain unchanged. If after recharging the capacitor the capacitor voltage is the
same (but with reversed polarity), then generation will have taken place (because a half of the energy remains in the
shunted half of the inductor).

In theory, it is impossible, for an ordinary inductor consisting of two coils to do this.

The result :

Tem kxoga #
-, K

The result confirms the prediction — the remaining energy is more than the capacitor gives to the coil (with an
accuracy of 20%).

Test components:
Capacitor 47 nano Farads, nductor LS is about 2 mH , Shotky silicon diodes BAT42, voltage used: 12 V.

THE RESULT VERIFICATION FOR OPTION 3
For verification of these results and in order to improve the accuracy, all measurements were repeated using alternative
components.

Test components: Capacitor: 1.5 nano Farads; total inductance: 1.6 mH, germanium diodes: (Russian) D311,
charging voltage: 5V.

The result: Confirmation of the previous measurements (a) shown below

(@) (b)

The recharging accuracy was improved to 10 percent. Also, a check measurement was made without
the second diode. The result was essentially the same as the measurement which used the shunting
diode. The missing 10 percent of the voltage can be explained as losses due to the spread capacitor's
inductance and in it’s resistance.

CONTINUED TESTING
The shunting diode was reversed and the test performed again:
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The result: It seems that the charge is spot on...

Further testing
An oscilloscope was connected to the coil instead of to the capacitor, in order to avoid influence of the
first diode so the oscillations viewed were based on the inductance of the spread capacitors.

The result: The accuracy of capacitor recharging was improved to 5 percent (due to the removal
of the influence of the first diode). After the main capacitor was switched off (by the diode), you can see
oscillations caused by the spread capacitance of the inductors. Based on the frequency of the
oscillations which were 4 to 5 times higher than that of the main capacitor, one can estimate the spread
capacitance as being 16 to 25 times lower than the main capacitor.

Still further testing
Testing of the oscillation circuit shunting, with the two cases combined (and without the first diode):

Web2

converted by Web2PDFConvert.com



http://www.web2pdfconvert.com?ref=PDF
http://www.web2pdfconvert.com?ref=PDF

|—xj
p—

Bl

L4l

The result: A contour (oscillation circuit) is not destroyed, but it is shunted a lot. One can explain it by
considering the moments when both diodes are conducting and so, shunt the circuit. As an addition, the

voltage on the down diode is shown (the time scale is stretched). The negative voltage is close to
maximum.

Still further testing
Charging a capacitor by shunting current in oscillation mode.

EL3

e

Conditions: The addition of a charging capacitor of 47 nano Farads.

The result: A capacitor is charging without shunting the circuit. The final voltage onitis 0.8 V, and rises
an falls of the voltage depend on the value of the capacitor.

THE OVERALL RESULTS OF THE TESTS (OPTIONS 1,2 and 3)
The symmetry of interaction in systems with electromagnetic field feedback (as with switched
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inductance) appears to be violated, and this implies that this arrangement could be used to generate
energy.

COMMENT: You need to choose the load in order to get the maximum power output. Very low, and
very high loads, will send almost no energy to the load.

ILLUSTRATION FOR SWITCHABLE INDUCTANCE

l

Initially—charged capacitor ,¥'

C

1 — .

. Output capacitor
Electromagnetically P i
coupled coils wound in ™M

opposing directions

é Mfain
Current S Z Shunting
current
| +
—— |
______|
M
current Main
current

The main and the shunting currents run through the same output capacitor in one direction, if the output
capacitor is discharged.

Mlain Idain
current current A o

Shuntmg SZ - Shunting SE
< current + 3 current

= s
= g R

There is no shunting current, if the output capacitor is charged.

ILLUSTRATION FOR SWITCHABLE INDUCTANCE
From Don Smith
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EXPLANATION: As Don Smith said, two detector receivers were combined, and one FE device was
constructed.

COMMENT: Don Smith produced this explanation as a PDF file; maybe you'll be able to find it on the
internet.

COMMENT: The resistance of the load must be chosen so as to get the maximum possible power in it.
COMMENT: The “board” does not contain an output circuit, because a couple of spark gaps and one
step-down transformer can be used instead of diodes and a capacitor (this was pointe

MECHANICAL (INERTIAL) ANALOGUE OF SWITCHABLE INDUCTANCE
From Tariel Kapanadze
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Version 1 Ratation directian Fotation direction
for the first half - period Dutput generator for

bath half - periods

Electrical autput

generator
Transmission to
the generator
Cantrolling
mechanism
Spring (helix)
Pendulurn 1 Pendulum 2

(Metallic disk) Metallic disk)

Rotation direction
for the second half - period

nfmnwwHmmnugi

Controlling mechanism |

EXPLANATION: When one pendulum is stopping the other is accelerating. The controlling mechanism
connects the pendulums to the output generator one after the other and so maintains the oscillations.

CONNECTING EXTRA MASS TO A MECHANICAL OSCILLATOR

EXPLANATION: Mechanical energy can be stored in any spring by compressing it or stretching it (1).
It corresponds to two positions in a mechanical oscillator (2), when only potential energy takes place in
an oscillating process

F i F i
1 > MW: 2 .Wm/w Potential energy
i i

F | ¥ |
4_;\/\{\?/\/\/\_’ ./\/V\W Potential energy
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EXPLANATION: If extra mass is connecting periodically to one side or the other, of a mechanical

oscillator, it will be shifting without any energy loss during the oscillation process.

’W\/W’ COMMENT There 1z ne need to transfer extra

O mass from one position to another in an actual

W\/\/\/\/\. device, because extra mass 15 a disc. and masses

o) Change in a mechanical oscillator are discs also. Tou only
; v, \ ,. 1 posttion have to connect them in a variety of ways.
O
UWWVQ ch COMMENT 4 grounded Tesla coil is an
(@] ange analogue of a spring with one side fized
: ? | i m posttion
O
N\ \\e |
OEJ-‘ A .\ n ;, posttion
O
O Change
|?| !ﬂ“ position
@]

WW Change

O""‘,\/‘-\-\.‘ : . ,. : position
o Ep=L(dx)*2 — Potential energy of deformed
.’WH'W ||||L, spring (heliz)
O Change
position

And soon ...

THE PRINCIPLE OF AMPLIFICATION OF MECHANICAL ENERGY

EXPLANATION: The principle is based on an asymmetrical flywheel (1) consisting of a small mass
and a large mass. These masses are balanced across the centre of rotation, that is, are located at a
distance proportional to their weights, from the center of rotation. This helps to avoid vibration when they

are rotating (the same principle used when balancing a car wheel).

co
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The inertial moment of such a flywheel (1) is analogous to the inertial moments of flywheels (2) and (3),
consisting only of large or small masses. However, from the point of view of kinetic energy, all of these
examples, (1), (2) and (3) are different. This is because the kinetic energy of every mass depends on the
direction and speed at which it moves (if is released during rotation). The highest common kinetic
energy is in the masses of flywheel (3), as less energy is contained in flywheel (1) and the smallest
kinetic energy is in flywheel (2). In order to get an increase in energy one needs to achieve a set-up
which is based on a spring (for energy transformation from kinetic energy to potential energy and back
again) and a lever of Archimedes (for changing the point where the force is applied).

1 2 3 4

E; w

MW@ m Yy,

%]
Change mass
and point force

Einetic energy Potential energy Einetic energy

Comments:

1. The simplified schematic diagrams shown here are for explanation purposes only.

2. In an actual device, you can use a spring in rotation mode (as Tariel Kapanadze did).
3. You can use disks and rings as flywheel masses (as Tariel Kapanadze did).

4. Altering one mass to another is actually achieved by connecting them in various ways.

1 2 3 4 e—
E,
- @)
©Hr o @

® -

Comment: Any asymmetrical mechanical oscillator behaves as indicated above, when the potential
energy of a compressed spring is transformed into the kinetic energy of moving masses.

E;

«— @
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The potential energy of the spring is distributed unequally between the small and large masses. A small
mass acquires more energy relative to it's size than a large mass does. The sum of the kinetic energies
of both masses is equal to the potential energy of the spring.

Comment: This is based on Tesla's asymmetrical schematic:
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FLYWHEEL - A HIDDEN FORM OF ENERGY
(Clarifications on mechanical energy amplification)

EXPLANATION: If you don't want to lose mechanical energy when doing work, then this work must be
done by animaging force. This force is absent in aninertial coordinate system, butitis presentin a non-
inertial coordinate system. When in a rotational coordinate system this force is called ‘centrifugal’ force.

TOP VIEW

TOP VIEW

Angular welocity
Wo< W, Track of one mass
! during a work in

Centrifugal force i rotation system

i
1
i
F2‘=F1 !
Ve | /
. :
| '—I ------------------------------------------
N i
= i Linear velocity L=
i
| b Vo=V, !
! T i
i Rotation systerm i Kinetic Energy : Inertial system
I : E2=E'| i
SIDE VIEW SIDE VIEW
1 F] 1 F2 i
—emrmemee ) —mrmme - @ — —mrmme @ @
\ \ Cord \ Cord
Cord
Pos.2 -ormrmrme e Mechanical Pos.2 Mechanical
i Work Work
————————————— Fuos.1 : Pos.1
i

Comment: After the work is done, the centrifugal force is low and if you want to continue producing
mechanical work, you have to use the other coordinate system where centrifugal force is high again.
This is possible because linear velocity does not change. You have to provide the other support point
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only (and a cord) in order to produce mechanical energy again.

Comment: If you want to make this mechanical work continuous, then the end of the first track must
also be the beginning of the second track. You have to change coordinate system periodically.

Paint of maximurm
centrifugal force of
the second track

Point of maximurm
centrifugal force of
the first track

Point of minimum Paoint of minimum
centrifugal force of centrifugal force of
the second track the first track

Comment: In a real situation, you have to compensate for energy loss due to friction and so a part of
the excess energy must be used to maintain the process.

ILLUSTRATION FOR SWITCHABLE INDUCTANCE
From Alfred Hubbard

External resonance
coil

Peripheral coils
senal connected

EXPLANATION: The center coil and all of the peripheral coils can “grasp” the same flux coming from
the resonance coil. All other details are the same as in Smith’s version.

COMMENTS: In other words, you can use rods as the coil core, instead of a closed ferromagnetic
core. But, this is not the only option in Hubbard’s device. He may have had another one, based on a
different principle, perhaps the principle of energy amplification in an LC circuit as described earlier, but
with switchable inductance being used.
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MODERN OPTIONS?

In switchable inductance
Version 1
A coil has more inductance when some of it's parts are short-circuited:

4—— Fodcore

EXPLANATION: The central section of the coil and it's two end sections are wound in opposite
directions.

COMMENT: The coil shown in the picture above has twice the inductance, when it's end sections are
short-circuited (measurements made with the Chinese-built RLC test meter shown here:

Waltege izl Fredfagn S et
F

Hubbard’s version

.

Version 2
By Don Smith

For shunting, not

0 to mains voltage Otol .
|3 1 kHz or FESONANCE

& 60 Hz

Mains
voltage

Heon-tube
driver

Inverter

12V

Version 3
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By Tariel Kapanadze

Switchable mductance,
or syinmetry destroved
by spark ?

No description ...???

Read on for further details....

THE BASIS OF SWITCHABLE INDUCTANCES
(Tesla patent)

(Ko Model.) % Bheats—BShest L
oo N. TESLA.
REGULATOR FOR DYNAMO ELECTRIU MAQHINES.
Ko. 336,061, Patented Mar, 2, 18886,

SECRET 3
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THE ASYMMETRICAL TRANSFORMER
With a magnetic field feedback loop (evolution of the 2nd secret)

LENZ LAW IS VIOLATED IN AN ASYMMETRICAL TRANSFORMER

(Therefore it is not possible to use it as an ordinary transformer)

An asymmetrical transformer can have two coils: L2 and LS. Coil L2 is wound on one side of the toroidal
core while LS is wound so that it encloses both the toroid and the coil L2 as shown here:

Optionally, this arrangement can be implemented with a wide range of styles of transformer core:

Now that you understand the operational principles of this system, you can use any configuration which
you need. For example:

L, Ls L2 Ls
OR

ILLUSTRATION FOR AN ASYMMETRICAL TRANSFORMER OF SOME KIND
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THE MECHANICAL EQUIVALENT OF AN ASYMMETRICAL TRANSFORMER

This example shows an ordinary transformer, wound on an E-core plus an external excitation magnet:

In other words: L2 is still used, but instead of LS the exciting magnet is used.

The result:
1. The voltage developed across coil L2 depends on the number of turns in L2, but the short-circuit

current through L2 does NOT depend on the number of turns in coil L2.
2. You need to choose the load connected to L2 in order to get the maximum power output. Very low,
and very high loads, will give almost no power output.

RESONANCE IN AN ASYMMETRICAL TRANSFORMER
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The first coil is used as a transmitter of energy, and the second coil as a receiver of energy.

It is very like radio broadcasting, where the receiver is located far away from the transmitter, and has no
feedback. The first coil works in parallel resonance and the second coil in serial resonance (although the
two schematic diagrams look alike).

EQUIVALENT SCHEMATICS

Parallel Senal
Resonance Resonance
NS ———— k!
Transmutter Recerver
Ls C L C,

Simulated long distance

FOR TRANSMITTER
R
L 1
E./'"'\ g
Q) g == c
4

CONSEQUENTLY: You can get much more voltage on L2 thanon LS

An experiment:

Generator Vo[lmaﬂ
Oy S
./ o [T
R —r H R=100 Ohm o
I

2000 pF

Conditions:
The resonance frequency is about 10 kHz. The total inductance LS is 2.2 mH, the L2 inductance (same
as the L1 inductance) is 100 mH, the ratio LS:L2 is 1:45 with an E-shape core, permeability is 2500.
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The result:
At the resonance frequency, there can be a voltage which is 50 times more on any parts (L1 or L2)
matched with the total coil LS, and voltage changes on R are no more 15 percent.

The phase shift in voltage is about 90 degrees between LS and L2.

(The amplitudes were equalised)

Further
An additional step-down coil LD was wound around L2, turns ratio 50:1 (matched with L2), and the load
resistor RL = 100 Ohms was connected to it.

The result
Changes in current consumption (estimated by measuring the voltage across R) are no more 15
percent.

MODERN OPTIONS IN USAGE OF AN
Asymmetrical transformer

By Don Smith
The schematic is like this:
R Tz
O O
[b :
Step-up transformer %

COMMENTS: Between sparks, L2 has a voltage onit's ends. If RL is connected directly to L2 then
there will be no output current without resonance and there will be no output current without a spark.

MORE ACCURATE:

_ H

Resonance r‘/:a-'l——-‘l- - ,‘-:‘1‘-\;—‘

circut N
o La
-l- Rp
C
T ——
L\ﬂ’/] ? Output spark
Step-up transformer

COMMENTS: L2 has no voltage onit's ends (without a spark). This is ordinary back-EMF
suppression, invented by Nikola Tesla.

Web2

converted by Web2PDFConvert.com



http://www.web2pdfconvert.com?ref=PDF
http://www.web2pdfconvert.com?ref=PDF

Resonance
circut

? Cutput sparl

Step-up transformer J)_

COMMENT: L2 has no voltage onit's ends (without a spark).

Secret 3.1
THE ASYMMETRICAL TRANSFORMER BASED
ON THE SHORT-CIRCUITED COIL

INTRODUCTION
Remark: Voltage distribution on the shorted coil depends on the position of the exciting coil.

DESCRIPTION
CASE 1 The excitation coil is centered:

Result: We have the full period of the voltage distribution on the short-circuited coil
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FULL PERIOD X
| =
EI | U
I
TN
T |
i i |
! ! |
o orthogonality Short-cjreuited)
in this part ordihary coil
4 ) h\
| \
H |
Excitation \
Eordmary coil \

Voltage distributions
are orthogonal

C'ASFE 2 FExcitation coil is on ondide
Result We have half period of the voltage distribution on
U0

& short-circuited coil

HALF PERIOD

4
-

L4

et

=hort-circited
ordinary coil

Excitation
Crdinary coil

CONSTRUCTION OF THE ASYMMETRICAL TRANSFORMER
based on the short-circuited coil

CASE 1 The short-circuited coil is wound in one direction

Cutput coil
Short-circuited
coil o
. Core 1;131:1& 18
optional
Input coil
Shunt

Result: The output does not influence the input in any way.
Explanation: The signal from the output coil generates zero voltage difference on the input coil.

Remark: The position of the coils should be adjusted in order to give the best resuilt.
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CASE 2 The short-circuited coil is wound in opposite directions from the centre outwards, and only half
of the coil is short-circuited:

=hunt

Short-circuited

caoil .
] Core 1_ns1de 13
optional

Input

O O
Cutput

Result: The output has no influence on the input coil
Explanation: The signal from the output coil generates zero voltage difference on the input coil.
Remark: The position of the input coil needs to be adjusted to get the best resuilt.

Remark: The coil's position depends on permeability of the core. More permeability means more alike
with distribution pointed at the beginning.

Best Position: To find the best coil position, connect the signal generator to the output, and then find
the coil position which shows zero at the input terminals. Alternatively, use an RLC meter connected to
the input terminals and then find the coil position which gives no change in reading when the output
terminals are short-circuited (for both case 1 and case 2).

Comment: The length of the wire, the total length of the coil, and the diameter of the coil are not
important. The number of turns in the input and output coils plays the same role as in an ordinary
transformer, for both case 1 and case 2.

MODERN APPLICATIONS FOR SHORT-CIRCUITED COILS
By Don Smith

CASE 1

ELECTRICAL ENERGY GENERATING SYSTEM

Potent Panding 08 7 100074
Eesonance [EF
input circuit 6A

AC

1
=

capacitor

1. Goiced, 6.0x 12 Violt M Dot Brickom, 00 Nonoscond, RF, & 400 KY
2 Doos, Foll. vie 0 Yoiocios 14, valtoge Drsgder Crouft, Comect voBoge for next Hogo
3. Hagh Voiage Module, Conefumg me L F ona L2 Coll. 12 Copociion, slecolyse, imaoths out DG + Sk sfect
4. Copociior, TDE 107 M, XKy 11, Eoxrth Geouna,
5 Soork Gap, Smol Engine Soorik Fug. Gop s D02 in 1L Voltage Divides Cuecl, comeci voiliae for Trarsiomme:
6. N tion Trongles Cod L3, 84 = L5 14 I St D5 5 inand &0 CFS s Teonsioem
;- M‘Mcm Coll L4, 15, OnApt o Teoretomrmiee Po Loodl  Wiork )

OOy Conmal Shue,
& Froaqumnncy Adigeon, DAewent ceaating By Do Boe 0 Dec. 1
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CASE 2

Resonance EVECTRICAL FNERGY GENERATING SYSTEM
input circuit Padert fending 04 f 1074
. _‘-'-"\jf.—-—"_
+

T ;'
000-L000/ Ty
==
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REMARK: The position of the coils must be adjusted until the output has zero influence on the input.

REMEMBER: None of the (input) energy used for exciting ambient space should appear in the load.

AN EXAMPLE OF CASE 2

By Don Smith
0 to mains voltage 0 to 9,000 volts Shunting
@ 60 Hz e 35.1 kHz capacitor
Mains | Step_up
voltage - =
Neon-tube [y T == 7¢2 p
Inverter driver >+ () C-I- §§ 2pF 8KV
—
Variac J- S!;:-aaprk I T
12v N Resonance input
coil

COMMENTS: The output coil can be adjusted to resonate with the input coil, but this is not important for
understanding the principle. Excitation with just one spark is possible (not in resonance), but the
frequency of the sparks influences the output power directly.
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HF Hy

§ 60.70 kHz

S |

COMMENTS: The resonant frequency of the circuit is about 60-70 kHz, but dimmer is for 30-35 kHz.
Voltage/frequency technology was used for adjusting the excitation frequency. Two parameters have to
be adjusted: the position of the slider and the excitation frequency.

MODERN APPLICATION FOR SHORT-CIRCUITED COILS
By William Barbat

US Patent Application number 2007/0007844

Self-Sustaining Electric-Power Generator Utilizing Electrons of Low Inertial Mass to Magnify
Inductive Energy
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COMMENT: Inorder to understand this device, you have to read Barbat’s patent application US 2007/0007844

Al: available here

COMMENT: [ would like to point out that externally, it looks very much like Alfred Hubbard’s device.

AN EXAMPLE OF CASE 1
By Tariel Kapanadze
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Li4 coil
(OUTFUT)

Excitation coil

Lid coil

(OUTPUT) L4 coil

(OUTPUT)

(OUTPUT) P (OUTPUT)

’ ‘ &
g i

~

COMMENT:  Adjust the positions of the coils to get the best resul.

AN EXAMPLE OF CASE 1
By Steven Mark
TPU

REMARK: An idea — an asymmetrical transformer based on the shorted-circuited coil:
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REMARK: The positions of the coils must be properly adjusted, in order to have no transmission feedback from the
output to the input. To understand this better, read the part which is devoted to switchable inductance.

EXPLANATION:

The first layer (shunted cotl wound around the whole core)  The second layer {cotls for input and cutput)

Biegin Enict
Mo orthogaonally in
this part

VOLTAGE DISTRIBUTION

Voltage From output \

hdiclclle

Length

THE BASIS OF THE TPU

(Tesla Patent)
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(Mo Model.). N. TESLA, 3 Bheeta—Bheat 2.
SYSTBM OF ELECTRIOAL DISTRIBUTION.
No. 381,970, Patented May 1, 1888,

WITNESSES : R‘ IRVENTOR .
G A Do, Ak ol Szt .

&l
Jm/,i:‘_._ﬁ&- (Gl v
e AFTORNETS.

Y

REMEMBER:
The position of the coils must be adjusted. The easiest way to do this is to add or remove turns at the ends of'the coils.

ACTUAL TPV

Azymmetrical transformer CASE 2

L2 shunted coil

AN EXAMPLE OF CASE 2
By Tariel Kapanadze
Mechanical device
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Shunt

Short-circuited coil

e T [

Input

SN
Cutput

MODERN USE OF SHORT-CIRCUITED COILS
by Cherepanov Valera (‘SR193’ in Russian forum)

N ¢ -1
e -

COMMENT: This arrangement does not have an OU effect, but it can be used for back-EMF suppression in
resonance (spark excited) mode to get a laser effect (very exciting summation effects).

COMMENT: This was copied from this device of Tariel Kapanadze (7?7?).

Don Smith

MA'l

+++++ Excitation spark

COMMENT: Mr. Tesla said: “The optimum relation for the main and additional coil is 3/4L and 1/4”. Is that ratio
used here?

COMMENT: Ifyou don’t understand this schematic, look at simplest version of the coil.
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FOR RESONANCE

Shunt \___\
Resonance capacitar
A i i
3L L/
o ¥ | Position of
Excitation AN the caoil must

spark

be adjusted

e b

It can be used

like this....

FOR ACCUMULATION

Shunt -\_‘

+4| - Huge
capacitar

¥ T

3L L4

o Position of
Excitation AN the coil must
spark

be adjusted

COMMENT: This is an instance of case 1 where the output coil was removed, and some of the turns of the short-

circutted coil were used instead.

THE ASYMMETRICAL TRANSFORMER (BASED ON A SHORT-CIRCUITED COIL)
COMBINED WITH A STEP-DOWN TRANSFORMER?
By Don Smith
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Not umportant???

Short - circuited
coll???

THE RELATIONSHIPS of Don Smith’s TPU size and position are important.

REMARK: Those relationships are used to produce an asymmetrical transformer

MECHANICAL ANALOGUE OF THE
ASYMMETRICAL TRANSFORMER
CASE2

Schematic:

*  Qutput ¥

Movwing

g T

REMEMBER:  Any asymimetrical transformer must be adjusted.

REMARK: Don Smith placed magnets inside the coils, but that is not important for understanding the process as his
device does not match the schematic.
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SOME REMARKS ON ASYMMETRICAL IN-FRONT CONNECTION
(Useful remarks)

Some turns were added on one half of the coil, and some turns were removed from the other half. An additional
magnetic field H3 was created, with inductance - LD.

H+Hs Hy-Hs

'

O/\J(MD i LLQ/\

Arensture ( generator ) H3 8]
waking place of the L-1
yields desined Amporage

Ls

RESULT: A large part of the total inductance acts as an inductor, and a small part acts as a capacitor.
This is a well known fact (read books). The total voltage on the coil is less than on it’s halves.

— The voltage on the total coil

N Red-The voltage on the large section of that coil

+ | RESULT: The voltage on it's halves is 4 times the voltage on the total coil

| =X |

e j The measurements were made in the frequency band 10 kHz to 100 kHz.
7

Here is the result of a capacitor discharging into this coil:

SECRET 4
CURRENT AMPLIFICATION

Ifa lot of asymmetric transformers are placed with a common flux flow through them, they will have no influence on this
flux flow, as any one asymmetric transformer does not have any influence on the flux flow. If the secondary L.2
transformer coils are then connected in parallel, this produces current amplification.

1 2 N
Flux
— — —_— —_—
— > - — | E— e _  —
» b » | [EEEEA > A >
Em— —_— —_— —
An asymmetric An asymmetric An asymmetric
Transformer with Transformer with Transformer with
the second coil the second coil the second coidl
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Receiver

Transmitter

Simulated long distance .

v

AS ARESULT
You have an asymmetric transformer arranged in a stack:

TS AR
S T TR T .

B ]
SRR R R

EXAMPLES OF COILS WHICH WERE ACTUALLY CONSTRUCTED

The coils are constructed from 5 sections, made from E-type ferrite core with a permeability of 2500, and wound using
plastic-covered wire. The central sections .2 have 25 turns, and edge sections have 36 turns (to equalise the voltage
on them). All sections are connected in parallel. The coil LS has magnetic field-flattening at it’s ends, and a single-layer
winding LS was used, the number of turns depending on the diameter of the wire used.

The current amplification for these particular coils is 4 times.
Changing LS inductance is 3% (if L2 is short-circuited)

SECRET 5
The power source in Nikola Tesla car “Red arrow” is
FERROMAGNETIC RESONANCE
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COMMENT: To understand electromagnetic feedback, you must consider the action to be like that of domains
which have a group behaviour, or alternatively, spin waves (like a row of standing dominos falling over where each one
is toppled by the previous one hitting it).

THE BASIS OF FERROMAGNETIC RESONANCE

‘When a ferromagnetic material is placed in a magnetic field, it can absorb external electromagnetic radiation in a
direction perpendicular to the direction of the magnetic field, which will cause ferromagnetic resonance at the correct
frequency.

Ferromagnetic rod

This is an energy-amplifying transformer nvented by Mr. Tesla.

QUESTION: What use is a ferromagnetic rod in Free-Energy devices?

AN ANSWER: 1t can change magnetisation of the material along magnetic field direction without the need for a
powerful external force.

QUESTION: Is it true that the resonant frequencies for ferromagnetics are in the tens of Gigahertz range?

AN ANSWER: Yes, it is true, and the frequency of ferromagnetic resonance depends on the external magnetic field
(high field = high frequency). But with ferromagnetics it is possible to get resonance without applying any external
magnetic field, this is the so-called “natural ferromagnetic resonance”. In this case, the magnetic field is defined by the
local magnetisation of the sample. Here, the absorption frequencies occur in a wide band, due to the large variations
possible in the conditions of magnetisation, and so you must use a wide band of frequencies to get ferromagnetic
resonance.

A POSSIBLE PROCESS FOR ACQUIRING FREE-ENERGY

Web2

converted by Web2PDFConvert.com



http://www.web2pdfconvert.com?ref=PDF
http://www.web2pdfconvert.com?ref=PDF

1. Subjecting a ferromagnetic to a short electromagnetic pulse even without an external magnetic field, causes the
acquisition of spin precession (domains will have group behaviour, and so ferromagnetics can easily be magnetised).

2. Magpetisation of ferromagnetics can be by an external magnetic field.

3. Energy acquisition can be as a result of strong sample magnetisation caused by an external magnetic field of lesser
strength.

COMMENT:  Younwst use synchronisation for processes of irradiation and magnetisation of the sample.

USEFUL COMMENT: A ferromagnetic shield will not destroy the inductance of any coil placed inside it, provided
that the ends of that coil are positioned on one side of the coil.

Ferromagnetic
Shield (pipe)

Two ends are on
one side of the coil

But, this coil can magnetise the ferromagnetic shield.

SECRET 5 CONTINUATION ...
TWO PERPENDICULAR COILS ON A COMMON AXIS
(Standing waves, spin waves, domino effect, laser effect, open resonator, etc...)

EXPLANATION: Standing waves can be excited not only in Tesla’s “horseshoe” magnet, but also in Tesla’s
ferromagnetic transformer (excited by sparks. ..

Magnetic field

Ty = o m R
=== gttt l ot = -2 TEzao

Excitation coil

Ferrite rod

Rt I TTRIEIICC S o
G O Spins orientation

Snark excitation
‘_‘__Milglln‘l' = field

Excitation coil

P -
R

Spark excitation

COMMENT: Excitation can be arranged in different ways, by coils connection. The frequencies of oscillations in a
coil depends on the number of turns in it (a big variation is possible due to this factor).

ACTUAL COILS
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COMMENT:  The posttions of the coils on the rods depends on whatever ferromagnetic material is being used, and
on it’s size. The optimum arrangement has to be determined through experimentation.

A transformer can have two pairs of coils: exciting (tubes), resonance or load (inside
— see Tesla’s picture.

TOROIDAL VERSION OF AN ASYMMETRIC STACKED TRANSFORMER

An inductor 1.2 is placed on the central ring between the short-circuits of the core, and the coil LS (not shown) is
wound around all three rings, covering the whole of the toroid - this is an ordinary toroidal coil.

The number of short-circuits depends on your requirements, and influences on the current amplification.

THAT'S ALL - GOOD LUCK ...

CONCLUSIONS

1. The Energy-Conservation Law is a result (not reason) of symmetrical interaction.

2. The simplest way to destroy symimetrical interaction is by using electromagnetic field feedback.
3. All asymimetrical systens are outside the area covered by the Energy-Conservation Law.

THE ENERGY CONSERVATION LAW CANNOT BE VIOLATED
(The field covered by this law is only symmetrical interactions)
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